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2 def main(argl: str, arg2: str) -> dict:
3 return {
4 “result": argl + arg2,
5 }
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temperature 10

average_temp = (23 + 28 + 25 + 22 + 20)

celsius_to_fahrenheit = temperature

temperature_str = str(temperature)
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python

scores = [98, 87, 95, 63, 75]

temperatures = [36.5, 37.2, 36.9, 37.5]

(scores[0])
rint(scores[-1])

scores.append(82)

scores.sort()
nt(len(scores))

print(sum(scores))

rint(max(scores))
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python

students =
_{lll(ll: ||name||: ll;:-;EB’qu’
fe1d SRR naine SRR R

{"id": 3, "name":

print(students[@] ["name"])
print(students[1] ["score"])

students.append ({"

id": 4, "pame": "JF¥", “age": 20, "score": 85})

top_student = max(students, key=lambda x: x["score"])

(top_student["name"])
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